
Higher Mathematics

LAWS OF LOGS

1. Simplify
logb 9a

2

logb 3a
, where a > 0 and b > 0.

A. 2

B. 3a

C. logb 3a

D. logb(9a
2 − 3a) 2

2.[SQA] Evaluate log5 2+ log5 50− log5 4. 3

3. (a) Given that log4 x = P , show that log16 x = 1
2P . 3

(b) Solve log3 x+ log9 x = 12. 3

4.[SQA] Given x = log5 3+ log5 4, find algebraically the value of x . 4

5.[SQA]

6. Solve logb x− logb 7 = logb 3 for x > 0.

A. x = 21

B. x = 10

C. x = 7
3

D. x = 3
7 2

7.[SQA] Find x if 4 logx 6− 2 logx 4 = 1. 3

[END OF QUESTIONS]
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